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CURRENT CARRYING CONDUCTOR OF SOME CROSS-SECTIONAL
FORM IN A UNIFORM MAGNECTIC FIELD

Lin Wer-guan  |CHunG SHiONG-LEE |

ABSTRACT

Recently the magnetic field on the surface of an elliptical cylinder carrying d. c.
current has been found. In this paper, we solve the problem of a conductor of some
cross-sectional form carrying d.c. current in a uniform magnetic field by changing the
contour of the cross section of the conductor to a coordinate line obtained by conformal
transformation from the rectangular coordinates.



